UG-209 BCO-34

B.Com. DEGREE EXAMINATION —
DECEMBER, 2019.

Third Year
AUDITING
Time : 3 hours Maximum marks : 75
PART A — (8 x 5 = 15 marks)
Answer any THREE questions.
1. What are the main features of auditing?
SewtlGEEHWITETII G 6ITENLOEET Fo MG,
2. How will you verify the bills payable?
1&g QFaSsIFdlen @plia] QD (PenHEnL Famis.

3. Give short notes on liability to third party.

santlganawnerfen eperpmd  pufler  GQuTmLiLEemer
Fo(0)|.

4.  What are the objects of creating secret reserve?

raEW @) BLILY 2 (HeuMdES6len GBTEshGET wmeneu?



10.

What do you mean by audit through the
computer?

sanflafll enow sentldams eTaTmTe eTeime?

PART B — (4 x 15 = 60 marks)

Answer any FOUR questions.
Distinguish routing checking from test checking.
aupsaten Carganen Csirey Camsananani CoumiLi(hss)s.
What are the auditor’s duty in vouching?

santlganawirerilen smempmilaier GuTmliLsamer afleur.

Explain the various types of auditing in detail.

seantlganaudlen LieoGoum eUMmSHMET nm)is.

Discuss the Internal control, Internal audit and
Internal check in detail.

9458 sLHUTH, ssaisns &5 Camsamer - UMM
ol 6TE G

What are revenue reserve? Mention any five types
of revenue reserve.

eUmeUML @BLL erammmed eremen?  gCHeDd BbG
QUGS T[N .
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11.

12.

What are the qualifications required for the
appointment of auditor. Critically examine the
liabilities of an auditor.

sewtlGengwimar Cairefler IGE LR WITened ?
sanflsenawirerien QLmILILSET WTened?

What in Investigation and differentiate it from
auditing?

Heoamile]  GTeIDTed  6TeiTen? & GO0T & 608 L | L_60T
Caumi(hss5.
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UG-208 BCO-33

B.Com. DEGREE EXAMINATION —
DECEMBER 2019.

Third Year
Commerce
Paper XI - ADVANCED ACCOUNTING

Time : 3 hours Maximum marks : 75
PART A — (3 x 5 =15 marks)
Answer any THREE questions.
All the questions carry equal marks.

1. Who is a profit sharing only partner?

@erugdlad wl HGw ukiE Qumb sl Lrefl ererueum
wimr?

2. What is Good will?
Blmieuengdlen bmH6lLILIT eTemmTE eTerTe?
3. Discuss Merger.

Bliming Carseans eTemmmed eTemen?



What is Liquidation?

HIMILDE SHENLIL| GTETMITE) 6T60T6n?

Discuss Royalty.

@rruel iy eremiu®n  sriyfleow  WBsrer euheumil

unml elleundlss.

PART B — (4 x 15 = 60 marks)
Answer any FOUR questions.

The following is the Balance Sheet of A and B as

on 31.12.2017.

Liabilities Rs. Assets Rs.

Capital Cash 1,15,000

A 7,00,000 Debtors 1,90,000

B 4,80,000 Stock 4,60,000

Reserves 2,00,000 Machinery 9,20,000

Creditors 4,80,000 Profit and Loss a/c  1,75,000
18,60,000 18,60,00

The firm was dissolved on 31.12.2017 and the
following was the result:

()

(b)
(©

The asset realized the following: Stock
Rs. 4.50,000; Debtors Rs. 1,85,000;
Machinery Rs. 8,95,000.

Expenses on realization Rs. 11,000.

The sundry creditors were paid in full. A and
B share profits in the ratio of 3:2.

Prepare the necessary accounts.
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A ovppgd B eremeyb sl Lmeflseflar 31-12-2017

SIGTEN DI @ mLiy Blaned @iy ECip
Qarhssliul (HeTerg),
Qurmiiyser 1. QeTggIHa6T €.
PP QOGS ETTLD Qs 1,15,000
A 7,00,000 sL_emeflser 1,90,000
B 4,80,000 &r&@ enaudmiiLy  4,60,000
sTiys Gsmens  2,00,000  @uinbdlrbd 9,20,000
sLabGsriger  4,80,000 @eru plLs 1,75,000
HWTE,
18,60,000 18,60,00

Blmeuerd 31.12.2017 jenm samessuL L g).

(=)

(<=4)

Qersgidaer Spssarieumm WL slLl L gl F7&@E
aagudliy em.4,50,000, sLeamaflser ep.1,85,000,
@uipglrb em.8,95,000.

Qenggisser WBLeslul L  euamsuier e5.11,000
Qeeurdled L g).

SLATHCSHTTEHEHEHSE WP LIGRT(LPLD
Qarhssiul (el L g

A ppmb B, 3:2 eadlp alfgsdHedr @eomu
BULgmg uSlibg Csrear et WBLLssmrésE
LHMID  Fal Lmeflseallen (POSETES  FHETSHESHHMET
S Clguis.
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Anand Ltd issues Rs. 100, 15%, 500 1st mortgage
debentures on which the amount payable is Rs. 20
on application, Rs. 30 on allotment and the
balance in one call. Prepare necessary journal
entries.

<pahg Bmiwob er.100, 15% i wmend Qelwiul ()
LG _(HLI UGS TrhIseT 500 LGS TrhIG 6T
Qeuafluld_iu@®dlemmar.  ellaweniiug  Ggrens  em.20
281580 5.30 LHMID BHpeTer (FTeng ¢(H SAeLPLIG6D
Quplin®&ng. Csmeuwmer WsHsl L USlesmer
GI'@@GS

Calculate the amount of goodwill at
three year’s purchase of last five year’s
average profits. The profits were 1 year
Rs.20,00,000; II year — Rs.18,00,000; III year —
Rs.30,00,000; IV year-Rs. 25,00,000; V year
Rs.32,00,000.

Eparamib elurhisaiied @) b Hlmeuet bHGELIWIT et
g uiiser. gbsrar@h Fyref @emugdle epemm e ()
QameTpscd erardlm SjiqlienLuded Blmeuer BHGLIWIT
s  Gigumsdr.  (psed Yl  @erud -
e5.20,00,000. @perLmwomear® em.18,00,000, epermmid
e 5.30,00,000, premsmd <pear® e5.25,00,000,
ohsmb e ep.25,00,000.

Explain the order of payments and preferential
payments in Liquidation.

Blmws  sameolber Cumg Garhssiur. Coemrigu
wperaflenid cuilenssaner alleuflEs.
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10.

Give the journal entries for the following. Pass the
journals for the issue of debentures when terms of
redemption is given.

(a)

(b)

(©

(d)

(e)

Issue of Rs. 1,00,000 — 10% debentures at
par and redeemable at par

Issue of Rs. 1,00,000 — 10% debentures at
premium of 5%, but redeemable at par

Issue of Rs. 1,00,000 — 10% debentures at a
discount of 5%, but redeemable at par

Issue of Rs. 1,00,000— 10% debentures at
par, but repayable at a premium of 5%

Issue of Rs. 1,00,000 — 10% debentures at
a discount of 5%, but redeemable at a
premium of 5%.

Epsaramid  gHeuRSET  Sliuaiuie  pSHSLL
uSle|samer 5(Hs.

(=)

(<=4)

¢5.1,00,000, 10% sLafl_(Quusdrmsar — 10%
allly  alflssder  wpswHibd  eupmis,
sk BLasliuBhdng.

<Cs sLa_ () usSrmser — 10% eul iy N,
5% <85 cllenens, Qeuefluftiul @),
sl BLsliuBhEng.

26 sLall () usdymsedr — 10% eul iy eldlsLb,
5% ser@Epuiquiled QeuafludLinl B, wpswdliinde
BLstiu®dng
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11.

12.

(FF) <Gz sLafl () usHrmser — 10% cullg eldlsLb,
waswdibe  GQeueflld L@, 5%  sm@Ose
evavdE BLsliLhEng).

(20) <=6g sLafl () ugdrmsdr — 10% ey efdsib,
5% gemepLiquiler Qeueflud il @, 5% sa®ze
cllemed @ BLsliu® & ng).

Elucidate = Merger and  Acquisition  with
illustrations.

Blmniger Carseans wHmID BlmiomigeT Qameripsea Limm
THSHSHT_(HLer afleuflés.

What are the differences between hire purchase
and installments?

UTLmad:  Casmatipss@EL,  seuaman  (pamudle
QameTpsaI&H@&LD 2 arer CoumUmT(Hs6T wrenel?
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UG-207 BCO-32/

BBCA-32
B.Com. DEGREE EXAMINATION —
DECEMBER 2019.
Third Year

COMMERCIAL LAW AND INDUSTRIAL LAW
Time : 3 hours Maximum marks : 75
PART A — (3 x 5 = 15 marks)
Answer any THREE questions.
1. What are the types of Contract?
RUUBSSI 6T auanssaar afleui.
2. What is a Quasi control?
DT @UILIBSLD GTEITMTE) 6TEImET?
3. What does the sale of goods act mean?
QUITBL_GET 69 DHLIHET GTETMTE CTETET?
4.  Write short notes on Factories Act 1948.

Qamfliharene gL_Lb 1948 upmml Sm GdILIL SHs.



What is Employees State Insurance Act are
explain benefits?

Qgmferart wrfleo sTISCH b udd gen
BenenLogenar edleui.

PART B — (4x 15 = 60 marks)
Answer any FOUR questions.
Difference between void and voidable contracts.

Qaupdl.  wHomb  GCeupPlLiorer  ULIBSBIGMmET
Caumu(hss5.

What is mean by breach of contract and its
consequences?

eUUbssHer WBped wHMD s llaera|samer LiHH
cfleul.

Difference between warranties and implied
conditions.

o ' CsmewrL.  Hlene LOMID  GUMITETG&GSLD 2 6Ter
Coumim(haeT eTemmen?

What are the Advantages and Disadvantages of
Factories Act forming?

Qamflhgrened &L UaTepamTuiller Bemenld LOHMILD
Sevwganer clleur.
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10.

11.

12.

What is the difference between first party and
third party insurance?

(PSS  BUMGERSGWD  DHMID  APGTDTD  BLITE@EHEELWD

2_aTem CoumUIm(H&emerT 6T(LpG|s.

What are the Workmen's compensation Act 1923
in relating to Social Security?

Qgmemart @K b 1923 Qgriiurer Feps
LITGISTUILSEDET 6T(LS)I5.

Explain the contract of agency.

Blmieuend elibsd LMl eSleur.
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UG-206 BCO-31

B.Com. DEGREE EXAMINATION —
DECEMBER 2019.

Third Year
COST ACCOUNTING

Time : 3 hours Maximum marks : 75
PART A — (8 x 5 =15 marks)
Answer any THREE questions.

1. What is Cost Accounting? State its advantages.

SLES e SETEEWD  GTETDTED  6Temen? (@&
BEITEDLO&EN AT Fo.M)iS.

2. Explain the importance of EOQ.
EOQ & psflwsgieusans ellons@s.
3. Discuss the essentials of a good wage system.

@ Beva Faadl (penmudled HpLliGuicLsener allers@s.



Calculate reorder level, Minimum stock level,
maximum stock level and average stock level.

Normal usage : 300 units per week
Maximum usage : 450 units per week
Minimum usage : 150 units per weeks
Re order period — 4 to 6 weeks

Re order quantity — 2400 units

SETEHE (HSE: LM e eTe], GnIFL 3jeTe], GlLmLD
OI6T6 FITFI 676

@uieoumen LiwerUmh — eunpgsHnE 300 e @ser
9Flasulg uwerur® — aumrsSHn@ 450 e @ser
@eophsUL g LweTUT(H — aumrsSn@ 150 je@ser
DM AT f6eTe| — 4 @S]@;'F@J 6 eumrymBISET

m ,ener lere — 2400 e @Gser

Prepare a cost sheet from the following:

Rs.
Direct materials 50,000
Direct wages 15,000
Factory expenses 5,000
Office expenses 1,000
Selling expenses 500
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DL Gseilaned UL Iquie) SWmT QlFus.

€.
Cmirig. epeoLiGlLmmeTaser 50,000
Cbirig gaed 15,000
Qzmhhsrene ClFae|ser 5,000
SIS ClF6|H6T 1,000
apuener ClFveser 500

PART B — (4 x 15 = 60 marks)
Answer any FOUR questions.

Bring out the differences between Financial
Accounting and Cost Accounting.

HlglEleneo SIS WGIHELD T 3o [ o)
sasSHugE@En  2der  Ceumurhiaseer  Gleuafls
Qarewris.

What is ABC Analysis? Explain its advantages.
ABC syiiay erampied eretmen? @sen Bemanlosanar adlauifl.
Discuss the various types of costing.

Ll  seamsdwader  LOCum  eumEsmeT

NleTsEs.
Explain the limitations of Cost Accounting.

9L 55 ellena semsdlwadler @ampurBiaamer @G0k Hs.
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10. The sales and profit for 2006 and 2007 are as
follows:

Year Sales Profit
Rs. Rs.

2006 1,50,000 20,000

2007 1,70,000 25,000

Find out.

(a) P/V ratio

(b) BEP

(¢c) Sales for a profit Rs.40,000

(d) Profit for Rs.2,50,000 and

(e) Variable cost of two periods.

puemar  LHMID  oTUD  PHwaeu  @rer(H

2,67 (D& (6@ LG 6tmeu (HLomm)
e elpuemer  eTULD
- -

2006  1,50,000 20,000
2007  1,70,000 25,000
ser(hLlig-
(=) P/Valdlsid
(=) BEP
(@) 5.40,000 ewruigdharer eSlHLeneT
() e1.2,50,000 &, eoruild ommiLd
(

2) @rer(h 2,67 ()& (@B ST ormul L
Sl &56dema
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11. From the following particulars prepare cost sheet.

Rs.
Direct material 8,000
Direct wages 6,000
Direct expenses 2,500

Administrative overheads 4,000
Factory overheads 5,000
Sales 40,000

Yemeupd  sHeusmars  Csmar(h LGS  ellanel
Ul iquiene Suimi Clguis.

€.
Cmirig. epaoLiGlLmmer 8,000
Cririg e 6,000
Cririy Qe ger 2,500
Blireurs Guonbsaeser 4,000

Qzmlhsrene Copbsoajsar 5,000

eNpLener 40,000
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12. Explain the following

(a)
(b)
(©
(d)

leeu(meuaTalhenm 6lemd:@s.

P/V ratio
Margin of safety
BEP

Marginal cost

<) PIV aldigio

<) LMGISTLIL| GTEDEMED

(
(
(@)
(

")

BEP
@migblena Claae]
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